Panasonic  INSTRUCTION MANUAL
Leak Detection Fiber FD-F71

MJEC-FDF71 No.0101-85V

Thank you very much for purchasing Panasonic prod-
ucts. Read this Instruction Manual carefully and thor-
oughly for the correct and optimum use of this product.
Kindly keep this manual in a convenient place for quick
reference.

e For the mounting method to the amplifier, refer to
the Instruction Manual attached to the amplifier
[FX-301(P)-F7],[FX-500 series].

e For the method of mounting the fiber attachment
(FX-AT4) and the method of using the fiber cutter,
refer to the Instruction Manual (for general-purpose
fiber head) provided with the product.

El CAUTIONS

Do not scratch the sensing surface. If it is scratched,
the detectability will deteriorate. When conducting
maintenance after operation, wipe all liquid from the
sensor head and the mounting bracket with a soft
cloth. Further, take sufficient care against dew con-
densation on the sensing surface.

The fiber cable can be cut for adjustment using the
attached fiber cutter (FX-CT2), however, the sensing
performance may decrease depending on the cut
condition of the fiber cable and the connection to the
amplifier.

If the intensity of incident light to the amplifier is satu-
rated under no-liquid condition, perform saturation
correction before using.

Take care not to scratch the fiber sheath while cut-
ting the protective tube.

Make sure to use the exclusive mounting bracket
when installing the sensor head to avoid human er-
ror. Reliable detection cannot be guaranteed when
this mounting bracket is not used. However, in case
the PVC mounting bracket is mounted on the dark
and mat surface, human error may not be detected.
Make sure to check it prior to use.

Make sure to adjust the sensitivity of the amplifier af-
ter mounting the fiber head in the exclusive mounting
bracket with no-liquid condition, completing layout
and wiring the fiber cable in actual working condi-
tions. Changes in layout or installation after com-
pleting sensitivity adjustment may result in the loss
of reliable detection due to the change of incident
light intensity.

In case of re-mounting the fiber to the pipe or change
in layout, adjust the sensitivity of the amplifier again.
Note that the light intensity may decrease when used
under high temperature and high humidity for long
period.

Aliquid having poor affinity to the material of the sen-
sor head (PFA) may create air bubbles, and if those
are drawn in the sensing part, it takes some time for
sensing to stabilize, or sensing may even become
unstable.

Make sure to check whether the sensing liquid has
an affinity ti the material of the fiber head.

Highly viscous liquid may not be detected stably.
Liquid being detected should also be kept within the
rated ambient temperature range.

H MOUNTING

e In case of using the SUS mounting bracket, in-
sert the M4 stud-bolt (straight type) welded on the
customer’s facilities into the mounting hole of the
mounting bracket and screw with M4 nut (please ar-
range separately). The tightening torque should be
0.98N'm or less.

S

M4 nut /'
M4 stud-bolt
%x (strait type)

In case the PVC mounting bracket is used, face the
‘TOP’ inscribed side up and use adhesive to stick
fast the mounting bracket on the mounting surface.
Make sure that the adhesive does not stick out from
the fixable area as shown in the figure below.

Fixable area

TOP | 4mm

11mm

Match the notch in the sensor body with the projec-
tion of the exclusive mounting bracket and slide till a
click is felt.

Panasonic Industry Co., Ltd.
1006, Oaza Kadoma, Kadoma-shi, Osaka 571-8506, Japan
https://industry.panasonic.com/

[Please visit our website for inquiries and about our sales network. |
Panasonic Industry Co., Ltd. 2024

April, 2024 PRINTED IN JAPAN

Panasonic i

\)—% J 74\ FD-FT1

IOREWE, RNFY =y 7B EBEV RFWZE
. HVRLITENET,

TR ORNC Z ORI E Z L < BREAICRY
ELL KR FECTITHEHAS7ZE 0,

w2 OB EEI RIS RE LT E,

o TUTADEFREIZOVWTIE, 7T
[FX-301(P)-F7]. [FX-500 1) —X]IZ{+ENE
REGAZE CSBLES L,

o J7ANTHEYTF A2k (FX-AT4) DEESE.
T7ANAYEDFERAAEICONTIE, ARSI
gﬁgm&ﬁm%mm774m«wm§:§ﬁ

FEL,

1 Pe e ]

o RIEICE Z T 2T &, FEAF &M
PREME F LET, AV T v AHE, o600
T~y R E T RIS & Lok TRt &
BoTL 7230, £, MEoM&EICIE, £
HEELTEE N,

77 AL, FEOT 7 A3 > 2 (FX-CT2) TH
BT T & £33, GIBRREES L O v 7 o
RIBICL D, BHMRERNK TS 220 H 0 £
DT, THEELTZIN,

RO RVIRIETT 7O AN R LTV 55
AlE, R EE LT b AL EE N,

RET 2 — TYIERL, 7 7 A IS 2 T e
WE DI LT 72 a0,

BEEEILT, ta—~vrzT7— (BESNRY)
RO, HFHEUTEEZFEH LTS, F£i2,
AL B 2GR L2nEaiE, KERMA T E
Hho HL, EERNESIEBIRB2VETIC PVC B
MHEEZFEATL L ba—vr=T— (RiEENRE)
BRIHTERWEERH Y o<, THEMARICS
THER L T ZE0,

T T ORKEREX, LTIRIERDRVIRIE T~y R
A B BT B D T, 7 A SR A IR R
ICBCHR, BEEBITR-> TS, BEFHESE, 77
A NOFEARE I NTRE A E LT D5 & ANEDE L,
LEMENTE EHA,

AVTF YRR ETT 7 A NOBRE IR E &2 A
H A VRS, Ty 7ORERELIT/R->T
<TEEW,

FHIMER - R CHERT 2 &, RME T
HBEINNRHV EFTOTIEELTZI N,

o ~v N - OM'E (PFARL) & BAPEA BRI,
BRI 2 & S A D, BRI RET D OIZRERF A
ol REEICRDIHEALHY ETOTIEE
{TEEW,
EﬁM®%Km‘%f@m#5MWTM%LT<ﬁ
AN
EHEOWRIT, BEL TR TERVWEARDH Y
ESaN

Tt 3 2 AR IR & 68 PRI §iPA NIz LT <
7ZEW,

H &Y i+

o SUS MMt EAMMT 256, WiEL ThHD M4 2
Sy RAv b 2T B O U E LA M4 T
b GUERZHESESY) TRY T ET,
20 L EOROAT M2 iE 098N m LIFE LT
KFEEW,

MaF v b

PVC uft B A& M+ 2 5413, “TOP” o 2IFfl%

EHIC L CHAHEICHA SETHE LTI RSN,

Eio, FREOEBHITHNIC THEBE L TS0,
PEREEE

|y
TOP | 4mm
11mm *
]
ERICE D AT 72 B B o & 7 7 A S oM
Waabt, “WFo” LENTLIETRATA st
TLEEW,

NFIZwT AV AR - att
T571-8506 ARMFIEMAFIIE 10068
https://industry.panasonic.com/
<FAT\A ZEAMEKEBO >
TEL : 0120-394-205
ZAEE B ~1265 138~ 176

(EB%RB. FRFH SHREHZRL)
Panasonic Industry Co., Ltd. 2024

2024 £ ABHET PRINTED IN JAPAN



5 BA B
RIS FD-F71

Panasonic’

AR RGN S Panasoni e i o
AT 5% A Hb B S A 3 AR T . £ B £ P At
o

T T UEW] 5 R ERE TP 759 2 AL LU P A 4

o ESF A RS [FX-301(P)-F71[FX-500 F 7% | ff# &9
A

o KFHLFMHEF (FX-ATA) HREETTA. KADIEIRH
gi!ij)ﬁf BHRAAF R OEREBRS (BAX

ET2R} Jo

|1 PE3=EI

o IEUITERIES . A, Kk RS BRAR, At
L AL T SRR AR TR L R R SR |
N S W T ] BEH <X i v\ 2 S ey 98

o JHHFHFAOLLIEIZE (FX-CT2) H hIEDELaH. H,
AR DI FEDIR S B B O AR RS | K I RE ] BE 23 1
i, HOHERE.

o WIS HR AR A B TE AR RS T IR B A, &

IEAR RS AT A

PSS W e Sy = N L (D aa i N2

AL, AES A, TSI TR SR DIE A

R (RO ) MM . A0SR A 1 4

AL RASREE TRRCE R . (R PVC R

TEHEMR R R, TORRR Ty, WITT RE BRI N

ZH I S A T

BOE RPUERS | 35 55 U TE AR T | s

BB LR LHR SREF LA B BOR ARG AT

RIS | LTI 2R 808 sk er iy ik

EE AR SR R REE TR R

E4 AR o G i o G W ) gt s O NS N 1N

i |, 1545 Wb FHTIBLE RAUE .

ng@ﬁ%}?ﬂ C IR T G RS TR
TR

JCET Sk R 5T (PFA) F1H A AN 1 VA RO 3 3E A

A ] REAR E AN R IR IR AR K AR . O

o I ISR AR B

o PR IR A T REAS I ANER A

o IV AR R 235 5 Ayt J) P TLFEE S PRl A

2 Bees

o i Tl SUS Zes 2 2mt | 1l LAUEAT T 4545 1 M4 Bk
ISR AR SR AL SR L B M4 1B 223
TR ) WA TR
IS, B ) 2B %2 0.98N - m P T,

M4182 44 /'
@ )
M4RX9:?$$$

%/ (17%)

o {{iT] PVC 30 i 2041 “TOP” iy—imi] I,
R P SR S S5 HEATAR e, A, AR BHAE
T EREHE RN T

[REESEE
TOP | 4mm
‘ 11mm *
o W AEMEIR 1A & 223 SR Y R DR E)DE

PRSI Sy b Wb BT R R

H = R+EEYRNERKEE
®

iR A MRS
ik - BARKRAFTIET AT 10067
https://industry.panasonic.com/

#Om: TR (FE)SIRAF
FE(LE)ERRSREX BHESST 8SHELE
[BXBRTRRAEEME, ESHAASIME, |
Panasonic Industry Co., Ltd. 2024

2024548 %15 BAEDR)




